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Question 1 Would you be able to confirm the indicative budget for this opportunity is £25k? 
Answer 1 The upper limit of this budget is £40000
Question 2 May the insurance level be reduced
Answer 2 We are prepared to accept a lower level of insurance the Terms and Conditions shall be updated to show this they will be as follows
	The insurances required will be for a sum of not less than: 
	    £[100,000] in aggregate for Professional Indemnity; 
    £[1,000,000] for Public Liability; and
    the minimum level required under the governing law for Employer’s Liability




